S‘O{‘-C"&Oct K

MAP 2302: Worksheet June 22, 2018 Group nr:

Q.OJ
1. Solve (3z — y)do — {z +y) dy =
Olsene s BE- 15 M& siee "1(5‘ Pi= _;_( () xeef 4.€
((T(LQBG s Q(SO L‘—°‘"~°Jbt£nus L“ + B gﬁs‘f"'/‘ ‘('° e it @ 2« € 'e")
We wcucf F(“"D sQfe.q,* oF -:"51»-] aud 9—:‘;—*-—1-—\1

I
q:r'cu& g'»ﬁ{' @"——G{L{'&‘t

T—uﬁ\-— \ Gopde = 2 -xy +30)

W“% Setoud Coudﬂ:ﬂq we 3@,
- - L0 ( - SO ( )
..;1-3(&3) = 3 o=y g f& Ag ts

’[Lw;s "F('l‘ \ 5 T x ~:}-L4_¢_ . ﬂe MUQ[ So (M:’ﬁbq e
v 37T o fo Kesye (1
i) A e = &
2. Solve (zy +y* +2%)dz — 2% dy = 0. L’_Jj__?__,—_—— N MT&\Q’F {‘DM

((LES DE ot aercau::{l | %«L‘“ 4 58 [\MQW ,
2‘4 Ly et
—Ll—a &> %:%*f Cwﬁj-y-'i«ejf—l

USe. \a( %%LSS‘D““—J’*«
Ty 4 %ﬁ Voo y= ey
( o IR o o AL, lecowas

A A
\{-!— '\Léﬂ- < )z( + \pz'p\ (=7 f_{&.', - QQ_'E “*erL(e 5.@,
\m <

gda« SN Qréq%\f - k e
o \¢ = tan (Qu(x\ LQ.)

Qm.\ﬁ badk {o v ;(d' WX

\h\




3. Solve the initial value problem:
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4. Recognize the differential equation y dx + (2r — 53?) dy = 0 as one of the types that we studied already (be
creative!) and solve it. ‘
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